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Section 11.5

2. Let P0 be a point on the line 

and let P(x,y,z) be any other pt.

If the line is parallel to (a,b,c) 

then 
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 lies on the line iff 
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, hence…

(x – 2, y – 3, z + 1) = t (4, -2,3)

or 
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4. (a,b,c) = (1,1,-1) one possible

set of parametric equations is:
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Section 11.6 (continued) 
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16. 
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58. Parallel if the normal vectors are parallel: � EMBED Equation.DSMT4  ���


Perpendicular if their dot product is:
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42. Okay, I’m getting tired! This is another hyperboloid of 1 sheet. I’m skipping to a hyperboloid of 2 sheets!


44. �


46. 2 sheet hyperboloid


48. 2 sheet hyperboloid


*btw… note the ‘2 negative’ signs! 





50.


�


52. circular paraboloid


54. 2 sheet hyperboloid


56. 1 sheet hyperboloid


58. ellipsoid


60. elliptic paraboloid


62. hyperbolic paraboloid or ‘saddle’


64. elliptic cone


66. parabolic cylinder


68. elliptic paraboloid


70. top half of an elliptic cylinder


72. A lithotripter is an ellipsoid (in this case, half of a prolate spheroid). UHF shock waves emitted from one focal point focus at the other focal point (where the kidney stone is located.
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